Cle

o
I

L

5 & E

FTIDFEEMEE FEERX) REEETSE (B2R)

TNt 75 AR S

15 B #BILEEXE
= B AZRisE
BEo#My IBH
BHEES  18-20-23-030



BHBEERNRE

SISEEEASEFEEMR)FEEETEE 2R

£ b G - AR Bify #H = i * H m =

BEiEISE 336,921, 936
FEE 336,921, 936
BB ET 17, 854, 356
BRiET 17, 854, 356
9% JKIE 17, 854, 356
-1 5 TREWN) FEEE LR NEIORE KE15mKiH 4,420. 00 1,179 5,211,180

m3
1-2 93 TKIE (2) FEETR MEIOKE KiEI5~30mEKiH 4,186.00 1,228 5, 140, 408

m3
1-3 93 TKIE () BWELT MEIOKE KiEd~30mEKiH 1,536.00 1,420 2,181,120

m3
1-4 55 JKIE 4) MBI NE30~L0kKHE KiFE15~30mKiH 370. 00 5,419 2,005, 030

m3
1-5 '35 JKiE (5) Az @EE) KiFE15~30mKiH 278. 00 7,521 2,090, 838

m3
1-6 U5 D% EMm GELERA) #XR $HD 5.5m3 x 1/ 1.00 1,225,780 1,225,780

=
THT 47,100, 778
TEMERT 4,197,310
TEMER 4,197,310
1-7 LiEMER Bt EM (FEEA=) H650m3%E 10, 790. 00 389 4,197,310

m3
BrteT 13,088, 270
o L—<iEt 13,088, 270




SHBERNRE B FEEMESEFEEBR)REREETEE2R
£ g R - KT BfI 8 2 fili ki £ i

1-8 JyL—<Ht $MDE 1, 200PSZY 10, 790. 00 1,213 13,088, 270
m3

T 29,815,198

fEA (L—X) 7,027, 660

1-9 A (L—X) BTG 29, 088. 00 241.6 7,027, 660
m3

TREER 13,171, 046

1-10 LR EElR BrIRE~TWRES 29, 088. 00 452.8 13,171, 046
m3

#HE (L—X) 5, 683, 795

1-11 £ (L—X) HEL1EE 29, 088. 00 195. 4 5, 683, 795
m3

B ith 3,932,697

1-12 %ih TRMRES 29, 088. 00 135.2 3,932,697
m3

HET 79, 134, 200

EREAT 79, 134, 200

ERER 36, 604, 282

1-13 #EHE’A MAL~100kg/EFRE 2,882.00 12,701 36, 604, 282
m3

BREAHL 39, 481, 582

1-14 #HEERHL ) (£)bcm #H5~100kg/EFEE (KIE10~15m3k 393.00 20,115 7,905, 195
) m2

1-15 #£HEARHL (2) (+)bem #A5~100kg/fEFEE (KZFE15~20m%k 1,251.00 23, 349 29, 209, 599

/l




SHEERNRE SHSEEERSBFEEMR)FREETEE 2R

% L] B - BIKsHiE BfL % = B ® % m o=
1-16 BHEXHL Q) (£)5em (et LiFEH£50cm)  (JKiE15~20mK &) 124.00 19, 087 2,366, 788
m2
BERHL 3,048, 336
1-17 #BARFHL ) (£)30cm 3#F5~100kg/fEREE (KE10~15m%k 24.00 10, 281 246, 744
) m2
1-18 #EBHEFHL (2) (x)30cm $#FH5~100ke/fEFEE (KiZE15~20m*k 233.00 12,024 2,801, 592
) m2
KEIT [5—v rRH] 192, 490, 039
7=y VKR T 25, 749, 320
= 2,705, 996
1-19 —v UEA A L& - B (1) 2,118t/ (ERfd1) 1.00 676, 499 676, 499
[E3]
1-20 47— ViR AL EERAT - Bt (2) 2, 927t/88 3.00 676, 499 2,029, 497
[E3]
AR 23,043,324
1-21 57—y oA (914 o FARK) (ICT) 2. 118t/ (ERft1) 1.00 5, 653, 500 5, 653, 500
1
) 5
1-22 77— D (04 > FARK) (ICT) 2,927t/E 3.00 5, 796, 608 17, 389, 824
2
@) 5
hEET 158, 892, 659
B 158, 892, 659
1-23 FEMBA RSERAEL) AL A150 19, 608. 00 6, 360 124,706, 830
m3
1-24 chEEHEK 1.00 32, 684, 356 32,684, 356
=
1-25 gL 1,147.00 1,309 1,501, 423
m2




SHEERNRE SHSEEERSBFEEMR)FREETEE 2R

4 b R - KT iE B #H =2 B * H =

Ea 9)—+rI 7, 848, 060
Zav9)—+ 7, 848, 060
1-26 Ea > )— FER(EMATY 230. 00 7,566 1,740, 180

) m3
1-271 Eav9 ) — MMTH 18N-8-40BB  W/C=65Y% 230. 00 26, 556 6,107, 880

m3
= EET 342,563
AT 342,563
B #h4k 342,563
1-28 [hE) B iR B {F B=1.0m, t=5mm 13.00 26, 351 342,563

m
HEBEREE FEL) 69, 445, 266
HiB R 69, 445, 266
HEBEREE 69, 445, 266
Eff + Z LME 47, 260, 502
[Elfi 45, 801, 322
1-29 EfE (1) 52 DM L) $AD5. 5m3. SAE~ERE 1.00 9, 834,909 9, 834,909

& (ERR) =
1-30 EIfZE (2) 52 DM (L) $A05. 5m3. HEWEH~E 1.00 9, 834,909 9,834,909

(1] E8) -
1-31 EIfE (3) QB LEM (FRA) 650m3. kR & ~ S &S 1.00 2,155, 314 2,155,314

(HEE&) =
1-32 EIfE (4) %ﬁﬂgii@ﬂa (FRAX) 650m3, S B~ EHEE 1.00 2,155, 314 2,155,314

=




SHBERNRE HHSEEBHEAEFE R ERBES TEFE2R)
% # R - TR E 1 g g ¢ @ 1
1-33 [EIfE (5) E'é)@ L—< i HDET, 200PS, EME~EMEE (1 1.00 10, 910, 438 10,910, 438
)
1-34 [EIfE (6) E'éb L—<fa HADET, 200PS, EmEE~ENE (B 1.00 10, 910, 438 10,910, 438
) )
PRy s 1,459, 180
1-35 %LVt (1) D B (EFL) 650m3H8 . HEE~THEE 1.00 204, 206 204, 206
() g
1-36 X Lit# 2 D B (EBsL) 650m3H8, HEA~ThEH 1.00 204, 206 204, 206
() g
1-37 ZLE ) REMM WO20LR  RRE~ SR () 1.00 525, 384 525, 384
)
1-38 X LVit# @) RERM FDA0LR A~ R (EH) 1.00 525, 384 525, 384
)
EiRE 1,740, 168
EERmAR EEE R 1,740, 168
1-39 5> ERHASLERK (1) 2 0—3%9 L— (Hh)55tm (E1E) 1.00 1,245,795 1,245,795
e
1-40 5> FRHASLERK (2) T F—H[EH]20tHR (F18) 1.00 494,373 494, 373
e
EXBEMILESRE 10, 049, 900
KEF AR 10, 049, 900
1-41 BAEMLARERE 20m % 20m 1.00 1, 236, 000 1, 236, 000
2
1-42 FAf LS 20m % 20m 1.00 1,060, 900 1,060, 900
2
1-43 FAEGIERENE 20mx 20m  H=21m 1.00 7,753, 000 7,753, 000
e
- 10, 264, 854




SHBERNRE SIS EEEMSEGFHEEMR)FEEETE(E2R)
£ 5 g - BIKHE Bify 2 fifl £ B i
REXTE 9, 990, 936
1-44 ZLBEWRMm (1) PRI S 1.00 755, 311 755, 311
=
1-45 REBEHM (2) BAARH L. BEHLE. BKEER. v —VY 1.00 9,235, 625 9, 235, 625
1BATEE .
=
7BE 273,918
1-46 4% 1.00 7,887 7,887
Hh
1-47 BKEE 707. 00 216 152,712
m2
1-48 $REZ/ER 1.00 104, 319 104, 319
=
1-49 EHERE R 1.00 9,000 9,000
=
KE - GEZREH 29, 842
KEREH 27,115
1-50 JKERERF (1) 52 DM (FELA2FA) $AD5. 5m3 x 1£ 1.00 13, 480 13, 480
=
1-51 KERKRH (2) B EM (FERA) H650m3%E x 2& 1.00 9,090 9,090
%
1-52 KERKRH (3) HkEtM D270PSE! x 1% 1.00 4,545 4,545
=
GERBEH 2,727
1-53 EERIRH Bkt 1.00 2,727 2,727
=
HiTEBE 100, 000
HiiERE 100, 000




SHEERNRE SHSEEERSBFEEMR)FREETEE 2R
£ b R - ARk B 2 B & # &

1-54 HtifEEE HREFMAENIS) 1.00 100, 000 100, 000

=
BEiZHEE 3,420, 264
BIEEH 3,420, 264
TILFE—LBEIE 3,420, 264
TILF E—LBIR GETR) 1,520,419
BIE%0E 318, 098
2-1 BlE 4w (1CT) 1.00 169, 074 169, 074

=
2-2 WRHER QEEZY) 1.00 149, 024 149, 024

=
KEAE 629,115
2-3 fEET R L (ICT) 1.00 622, 384 622, 384

=
2-4 A1 (1CT) 0.01 673, 165 6, 731

km2

AR 573, 206
2-5 AERT—A2 B 1.00 573, 206 573, 206

=
TILFE—LBR (TR 1,813,845
BIE%E 149, 024
2-6 HAER QEEZY) 1.00 149, 024 149, 024

=
KEAE 627,993




SHBERNRE SHSEEERSBFEEMR)FREETEE 2R

£ g g - BKTE BfI B B2 i ki £ wmE

2-7 %7 Xk (ICT) 1.00 622, 384 622, 384

=
2-8 GBI (ICT) 0.01 560, 971 5,609

km2

BE 1,036, 828
2-9 AERT—4%E 1.00 1,036, 828 1,036, 828

=
BEiEEE 86, 000
BE 86, 000
2-10 EHERER 1.00 86, 000 86, 000

=
BEERE 256, 006
BHES 256, 006
[CT:RIE 256, 006
EEAGE 248, 550
BE 248, 550
3-1 3RFTERETT— 4 VERL (ICT) 1.00 248, 550 248, 550
BEiEEE 7, 456
BE 7,456
3-2 EXHARE 1.00 7,456 7, 456

=




ASHIBEERIER SISEEEMSTEFEERMR)FREETEEGE 2R

£ b B - KT B % =2 L] ® & W=
EEIEE 336, 921, 936
BEIER 98,660,293 + 97,875, 326 196, 535, 619
HBERERE GH 69, 445, 266 + 27,896,535 + 1,318, 492 98, 660, 293
HBREE (HLE) 69, 445, 266
HBEREE (X ) 346,971,836 x 8.04% ((3.80% x1.68 +1.50%) x 1.02) 27,896, 535
BSRENER 346,971,836 x 0.38% 1,318,492
RiSEER 435,582,229 x 22.47% ((20.54% +1.28%) x 1.03) 97, 875, 326
TR 336,921,936 + 196,535, 619 533, 457, 555
—REBEES 533,457,555 x 13.48% (13.48% x 1.00) — 1,016 71,909, 062
LERIE 533,457,555 x 0.04% 213,383
T H{fits 533,457,555 + 71,909,062 + 213,383 605, 580, 000
EEAEE 3,420, 264
B 3,420,264 x 74.2% — 8,099 2,529,736
REBEE 3,420,264 + 2,529,736 5,950, 000
BB E TS 5,950, 000
E R 248,550 + 7,456 256, 006
EEAGE 248, 550




AHBEERIER FHSEESHSEFEEMR)FEEETEGE 2R

£ b B - BT B % =2 B @ ® & W=
EERE 7, 456
T DAt R f 248,550 x 53.85% (35% = (1 — 35%) ) 133,844
e i 256,006 + 133, 844 389, 850
—REEES 389,850 x 53.85% (35% <+ (1 — 35%) ) — 9 784 200, 150
ES {id 389,850 + 200, 150 590, 000
BEHEE 605,580, 000 + 5,950,000 + 590, 000 612, 120, 000
HERERLE 612,120,000 x 10.00% 61,212,000
EATISE 673, 332, 000




Rifiz -/ \v7r—o

BHSFEEMESEFEEMR)FEEETEE2R)

&5 :1-1
WM JSTRIEN) $TBELR NEIOKRE KiFE15nKE 1H&Y (2302m 3)
2 b g - BIRTE By = BHO(f ® % W = " =
55 JREMEELER) (R/\y FX) #HD 5. 5m3
B 1.00 2,403, 557. 00 2,403,557/8.00H / 10H
S (U3 TigEMm(R/Sy FR)) $MD 1200PSE!
B 1.00 298, 187. 00 298,187/2.00H / 8H
MR 2E0%
% 0.50 2,701, 744.00 13, 508
& B YEZERES - 2,302.00m 3 1,179.00 2,715,252
&5 :1-2
WM JSTKRIEQ) #EBLR NEI0RE KFE15~30mEKH 1BH&Y (2210m 3)
2 b g - BIRTE By = BHO(f ® % W E " =
55 JREMEELER) (R/8y FX) #/D 5. 5m3
B 1.00 2,403, 557. 00 2,403,557/8.00H / 10H
S (U3 TgEMm(R/Sy FR)) $MD 1200PSE!
B 1.00 298, 187. 00 298,187/2.00H / 8H
MR ELNOY
% 0.50 2,701, 744.00 13, 508
& B YEZERESN - 2,210.00m 3 1,228.00 2,715,252
&5 :1-3
WM JSTRIEQ) BELH NE10KFE KFE15~30mkKH 1B&Y (1911m 3)
2 b g - BIRTE By = BHO(f ® % W E " =
55 JREMEELER) (R/\y FX) #/D 5. 5m3
B 1.00 2,403, 557. 00 2,403,557/8.00H / 10H
S (U S TgEMm(R/Sy FR)) $MD 1200PSE!
B 1.00 298, 187. 00 298,187/2.00H / 8H
MR EXENOY
% 0.50 2,701, 744.00 13, 508
& B YEZERESN - 1,911.00m 3 1,420. 00 2,715,252




Rifiz -/ \v7r—o

BHSFEEMESEFEEMR)FEEETEE2R)

&5 :1-4
WM JSTKRIEW REL NE30~50KE KFE15~30mKiH 1B&Y (501m 3)
2 b g - BIRTE By = BHO(f ® W = " =
55 JREMEELER) (R/\y FX) #HD 5. 5m3
B 1.00 2,403, 557. 00 2,403,557/8.00H / 10H
S (U3 TigEMm(R/Sy FR)) $MD 1200PSE!
B 1.00 298, 187. 00 298,187/2.00H / 8H
MR 2E0%
% 0.50 2,701, 744.00 13, 508
& B YEZERES : 501.00m 3 5,419.00 2,715,252
&5 :1-5
& VS TRKREE(G) B8 EE) KiFE15~30mkE 1HHY (361m3)
2 b g - BIRTE By = BHO(f ® W E " =
55 JREMEELER) (R/8y FX) #/D 5. 5m3
B 1.00 2,403, 557. 00 2,403,557/8.00H / 10H
S (U3 TgEMm(R/Sy FR)) $MD 1200PSE!
B 1.00 298, 187. 00 298,187/2.00H / 8H
MR ELNOY
% 0.50 2,701, 744.00 13, 508
& B YEZERES : 361.00m 3 7,521.00 2,715,252
&5 :1-6
B VS TREMELEA) R SAD 5. 5m3 x 1 1LY
2 b g - BIRTE By = BHO(f ® W E " =
55 JREMEELER) (R/\y FX) #/D 5. 5m3
B 1.00 1, 050, 080. 00 1,050, 080 #tA
S (U S TgEMm(R/Sy FR)) $MD 1200PSE!
B 1.00 175, 700. 00 175,700 #tA
& Hi 1E%Heh - 1.00K 1, 225, 780. 00 1,225, 780




RiEFR-FET/\vr—2 EEMSBEE RNR) RS TEE2R)
&5 17
&% DEMER  RHLER EE) H650m3E 1B4Y (1761m3)
# # AR - odkhik B g B # #E w =
LB (A #650m37% (ZFAL)
=] 2.00 195, 819. 00 391, 638 10H
5f #fiD 1000PSEY
=] 1.00 291, 572. 00 291,572 2. 00H / 10H
HAH E3 Yol
% 0.50 683, 210. 00 3,416
& B {E38EH : 1,761.00m 3 389.00 686, 626
&5 :1-8
&% : )o L—<ist  SHDE 1, 200PSE! 1B4Y (1761m3)
# # A - odkhiE B g B # #E w =
B o L—<m) $8DE 1200PSE
=] 1.00 1, 844, 689. 00 1,844, 689/5.00H / 10H
B (MEEEDLNES) 88D 10t/
=] 1.00 282, 484. 00 282, 484|8H
HAH E3 Yol
% 0.50 2,127,173.00 10, 635
& B {E38EH : 1,761.00m 3 1,213.00 2,137, 808
&5 .19
&% WAOL—X) BT 1iiE m3%yY
# # A - Fodkhik B g B # #E w =
A (L—X) R
m 3 1.00 241.6 241.6
& Bl E%8:5 : 1.00m 3 241.6 241.6
&5 :1-10
&% tHEER BRI~ THRES m3%yY
# # R - odkhiE B g B # #E w =
TH%ER Bt~ tHRES
m 3 1.00 452.8 452.8
& Bl E%8:5 :1.00m 3 452.8 452.8




Rifiz -/ \v7r—o

BHSFEEMESEFEEMR)FEEETEE2R)

&5 1-11
%M B UL—X) Hrtieg Tm3%Y
2 b g - BIRTE BT o = B O ® # " =
L+ (L—X) BT 115
m3 1.00 195.4 195.4
& Hi 1E%HEH : 1.00m 3 195.4 195.4
5 :1-12
&5 Bih TRMREDS Tm3%Y
2 b g - BIRTE BT H = B O ® # " =
it THMRES
m3 1.000 135.2 135.2
& B 1E%HEH : 1.00m 3 135.2 135.2
= :1-13
B BEERA HAES~100ke/EEE 1000m 34 Y
2 b g - BIRTE BT H = B O ® # " =
ey 5~100kg/{&
m3 1, 300. 00 9, 500. 00 12, 350, 000
Bk D 270PSE! 3~5tH
B 1.44 184, 140. 00 265, 161 8H
HEIEESRT L
B 1.44 16, 302. 00 23,474
MR 2E0%
% 0.50 12,638, 635. 00 63, 193
& B YEZERES - 1,000.00m 3 12,701.00 12,701, 828
&5 :1-14
£ BEAHLA) (£)5em #AE5~100kg/MEFEE  (KFE10~15mKiH) 1HEY (9.2m2)
2 b g - BIRTE BT #H = B Ol ® # " =
Bk D 270PSE! 3~5tH
B 1.00 184, 140. 00 184, 140 8H
MM ELNOY
% 0.50 184, 140. 00 920
& B 1E%HEN 1 9.20m 2 20, 115. 00 185, 060




Rifiz -/ \v7r—o

&5 :1-15

£ BAEXHLQ)  (£)bom HAES~100kg/MEFREE  (KiZFE15~20m*K i)

BHSFEEMESEFEEMR)FEEETEE2R)

1HEY (10.3m2)

2 b g - BIRTE By = BHO(f ® W = " =
BKEMQABKAX (RE)) D 270PSE! 3~5tH
B 1.00 239, 302. 00 239, 302 |8H
MR EXENOY
% 0.50 239, 302. 00 1,196
& B YEZERESN - 10.30m 2 23, 349. 00 240, 498
&5 :1-16
£ BEARHL Q) (£)5emGE LFAHE50cm)  (FKiFE15~20mK ) 1H%Y (12.6m2)
2 b g - BIRTE By = BHO(f ® W E " =
BKEMQABKAX (RE)) D 270PSE! 3~5tH
B 1.00 239, 302. 00 239, 302 |8H
MR EXENOY
% 0.50 239, 302. 00 1,196
& B YEZEREN 1 12.60m 2 19, 087. 00 240, 498
&5 . 1-17
£ BERHLA)  (£)30cm 3#A5~100kg/(EFEE  (KZFE10~15m3k ) 1B%HY (18m2)
2 b g - BIRTE By = BHO(f ® W E " =
Bkt D 270PSE! 3~5tH
B 1.00 184, 140. 00 184, 140 8H
MR 2E0%
% 0.50 184, 140. 00 920
& B YEZERESN : 18.00m 2 10, 281. 00 185, 060
&5 :1-18
£ BERHL Q) (£)30cm 3#A5~100kg/(EFEE  (KZFE15~20m3k ) 1B&HY (20m2)
2 b g - BIRTE By = BHoO(f ® W = " =
BKEMQABKAX (RE)) D 270PSE! 3~5tH
B 1.00 239, 302. 00 239, 302 |8H
MM EXE OV
% 0.50 239, 302. 00 1,196
& B YEZERES : 20.00m 2 12,024. 00 240, 498




Rifiz -/ \v7r—o

&5 :1-19

&% r—V URESAEEmRMA - B D

2,118t/ (Ef$1)

HH5E

EEmSEEEEMRK)REEETR(E2LR

EEP)

£ 5 L - BIRTiE BAf = B & % = & &
L+ EmeTES s L—oikE
B 1.00 100, 800. 00 100, 800
B GEflER) $HD 150t H
B 0.50 928, 554. 00 464, 277/4.00H / 8H
5 fia D 700PSEY
B 0.50 222, 845. 00 111,422 2.00H / 8H
& B 1YEZHERN - 1.00B" 676, 499. 00 676, 499
&5 :1-20
B r— Y R LEEERM - BRS(2) 2,927t/ 1LY
£ 5 L - IRTiE BAf = B & # = & &
L+ EmTES s L—oikE
B 1.00 100, 800. 00 100, 800
EEEHM GEfiER) $HD 150t H
B 0.50 928, 554. 00 464, 277/4.00H / 8H
5 fia D 700PSEY
B 0.50 222, 845. 00 111,422 2.00H / 8H
& B 1YEZHEN - 1.00B" 676, 499. 00 676, 499




Rifiz -/ \v7r—o

BHSFEEMESEFEEMR)FEEETEE2R)

&5 :1-21
B T—Y S (D4 oFAK) (CT) (1) 2.118t/E  (ERfH1) IEED)
2 b g - BIRTE By = B 4 ) W = i

EEE M GEfEE) $AD 200t

B 1.00 1, 255, 332. 00 1,255,332 4.00H / 8H
& $M300tFE

B 1.00 127,872.00 127,872 8H
5fin D 800PSEY

B 1.00 268, 617.00 268,617 4.00H / 8H
5fin D 2000PSEY

B 1.00 452, 430. 00 452,430/2.00H / 8H
Bk D 270PSE! 3~5tm

B 1.00 184, 140. 00 184, 140 8H
B $fiD 5tM

B 1.00 244, 739. 00 244,739 8H
HIRIEXS

A 2.80 217,090. 00 75, 852
LU

A 2.80 26, 150. 00 73, 220
LTEEXE

A 4.20 19, 740. 00 82,908
BIEES AT LA

B 1.00 2,690, 500. 00 2,690, 500
BIEEATLRER

A 1.00 60, 000. 00 60, 000
MM 2E0%

% 2.50 5,515, 610.00 137, 890
& B 1YEZHERN - 1.00B" 5,653, 500. 00 5, 653, 500




Rifiz -/ \v7r—o

BHSFEEMESEFEEMR)FEEETEE2R)

&5 :1-22
& =Y U (D1 oFAR) (CT) (2)  2,927t/8 1LY
2 b g - BIRTE BT o = B O ® W = " =
EEE M GEfEE) $AD 200t H
B 1.00 1, 255, 332. 00 1,255,332 4.00H / 8H
& $M300t7E
B 1.00 127,872.00 127,872 8H
5fin £MD 800PSZEY
B 1.00 268, 617.00 268,617 4.00H / 8H
5fin $MD 2500PS#Y
B 1.00 558, 908. 00 558,908 2. 00H / 8H
Bk D 270PSE! 3~5tH
B 1.00 184, 140. 00 184, 140 8H
B $HD 5t
B 1.00 244, 739. 00 244,739 8H
HIRIEXS
A 3.20 217,090. 00 86, 688
U
A 3.20 26, 150. 00 83, 680
LTEEXE
A 4.80 19, 740. 00 94, 752
HEIEEIRT L
B 1.00 2,690, 500. 00 2,690, 500
IEESRTLIEES
A 1.00 60, 000. 00 60, 000
MM 2E0%
% 2.50 b5, 655, 228. 00 141, 380
& B 1YEZHERN - 1.00B" 5, 796, 608. 00 5, 796, 608
&5 :1-23
£ hEMEAGREBRAEBL) FHEL AL 1000m 34 Y
2 b g - BIRTE BT H = B O ® W E " =
hREEHM SREE L+ FPA150
m3 1,200. 00 5, 300. 00 6, 360, 000
& B YEZERES - 1,000.00m 3 6, 360. 00 6, 360, 000




Rifiz -/ \v7r—o

BHSFEEMESEFEEMR)FEEETEE2R)

&5 :1-24
%5 . hEEHEK 1LY
2 b g - BIRTE By = B O ® W = " =
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